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’ 100kN/mM%Z#BZ % -l -~ - -|s3mZBz3| - - - -] 100kN/mM%E#Z% - -~ - -|3m%zi#Bz% -~ - - -
Zh st 1.00/ 000 ~ 5098 74.94] Zh st | 0.00 0.00| 1.62 8.21 ZHLS 1.00] 500 ~ 708 7494 Thils | 500 ~ 7.08] 1.62 8.21
5 100kN/m%Z#BZ % -l -~ - -|3mZBz3| - - - -| 100kN/mM%E#Z% - -~ - -|3m%z#Bz% -~ - - -
Zh st 1.00{0.00 ~ 6.12 76.78] ZhList | 0.00 6.12| 2.00 10.09 ZHLS 1.00| 500 ~ 8.0 76.78] #h Ll | 500 ~ 8.00| 2.00 10.09
3 100kN/mM#Z#B% % 1.00/0.00 ~ 0.10 101.44|3mZEBZD| - - - -] 100kN/M%i8 % % 1.00{ 11.13 ~ 11.39 101.44|3m%#B %5 -~ - - -
Zh st 1.00{0.10 ~ 7.88 100.00] £h st | 0.00 7.88| 2.37 11.97 ZHLS 1.00f 500 ~ 11.13 100.00] #h st | 500 ~ 11.39) 237 11.97
4 100kN/mM%Z#BZ % -l -~ - -|s3mZBz5| - - - -] 100kN/mM%E#Z% - -~ - -|3m%zi#Bz% -~ - - -
Zh st 1.00{0.00 ~ 742 94.68] Zh List | 0.00 742] 250 12.66 LS 1.00] 500 ~ 11.26 94.68] #hLis | 500 ~ 11.26] 2.50 12.66
5 100kN/m%#BZ % -l -~ - -|3m%EiEZ S - - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00{ 0.00 ~ 6.57 82.81| Z=hn L4t | 0.00 6.57| 2.01 10.14 Lot 1.00f 500 ~ 8.98 8281 ZnList | 500 ~ 898| 201 10.14
6 100kN/m#%#BZ % -l -~ - -|3m%EiEZ S - - - -| 100kN/mM%E# %% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00{0.00 ~ 7.09 90.05| £hList | 0.00 0.00| 1.77 8.96 st 1.00f 500 ~ 8.90 90.05| ZnList | 500 ~ 890 1.77 8.96
7 100kN/m#%#BZ % -l -~ - -|3m%EiEZ S - - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
Zh st 1.00/ 000 ~ 6.37 80.17| #h st | 0.00 0.00| 1.64 8.29 LS 1.00] 500 ~ 7.75 80.17] #h L4 | 500 ~ 7.75| 1.64 8.29
8 100kN/m#%#BZ % -l -~ - -|3m%EiEZ S - - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00{0.00 ~ 6.65 83.87| #n L4t | 0.00 0.00| 1.73 8.75 st 1.00f 500 ~ 8.00 83.87| #nList | 500 ~ 800 1.73 8.75
100kN/m#%#BZ % ~ ImEEZ D 100kN/m#%#BZ % ~ ImEBERD ~
ZFh s ~ FhnLst Zh S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst S ~ ZFh s ~
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